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N.B. : (1) Question No.1 is compulsory.
(2) Solve any 3 questions from remaining questions
(3) Assume suitable data if necessary stating it clearly.

1. (a) Explain the advantages of Software Defined Radio Cm‘ﬂ;{mmi'qaﬁ'r:m 5
Systems. '

(b) Compare between FCA and DCA channel asslgnment strategtex
(¢) What 1s Soft Handoff? '

(d) What are the bandwidths and chip rates u*;ecl in WCDM#\ and how
they are compare with cdmaOne?

th th tn

2. (a) Consider a cellular system with S/1 ratio of 18 dBT‘he frequency reuse 10
factor is N = 7, calculate the worstscaseg for signal-to-co-channcl
interference ratio. Is the frequency reuqr: fa::rtm 7 still being acceptable?

[f not, what is it? | .

Assume path-loss exponent as 4 ma mf}b le radio environment

(b) With respect to tr unkm& thcﬂry dﬂbl ribe following terms: 10

i. Busy Hour | y
I1. Trﬂfhclntensityﬁg
ii. Average call arrival'rate & Average call duration H.
iv. Erlang-B System & Erlang-C System.
V. Trunkinge_iﬁcifg:iﬁ:y & Grade of Service (GOS)

3. (a) Describe GSM framc structure. 10

(b) Why is pt}Wur cUn[ruI used in cdma2000 and WCDMA? 10

4. (a) Draw awmcat diabram of UMTS system architectures with interfaces. 10
Explamiu details

(b). What 1s Multi path Path Signal Propagation and Rake Receiver. 10
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details.

(b) Why LTE uses OFDMA for DL & SC-FDMA (Single Carrier @
for UL?

(¢c) How do we use space-time block code (STBC) and spac%etellis

code (STTC) K

6: (a) Compare between 3GPP/LTE and Advanced LT@
(b) Describe the Knife-edge Diffraction model.

5. (a) Draw a neat diagram of LTE Network Architecture and explaip

7> (c) Inacellular system, if carrier frequency fc= and mobiie velocity
is 70km/hr. Compute the received ca cy if the mobile is
moving

[1] directly towards the trans ‘lﬁ-:
[ii] directly away from thedransinitter
[11i] Inadirection which @\ lieular to the direction of arrival
of the transmitte
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